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1. MARK HOLES ON EACH SIDE OF DOOR.
2. SUBTRACT 1/87" (3) FROM CENTERLINE OF
HOLES ON SHORT SIDE OF BEVEL
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DRILL HOLE FOR LOCK GUARD (DRILL HOLES

FROM EACH SIDE TO ENSURE PROPER AL IGNMENT.)
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QTY | SCREW DETAILS |
I
LG10O 2 | +-20 x 14" oPHMS v
LG 2 | £-20 X 13" OPHMS
LG12 2 | +-20 x 147 oPHMS INSTALL SCREWS AND ® |
TIGHTEN SECURELY.
LG13 2 | £-20 X 147 OPHMS T
LG 14 4 | 20 X 13" OPHMS
LGl0, LGll, LGI2, LGI3 & LG14 LOCK @@Sgguriy&ﬁaﬁgw@

GUARD INSTALLATION TEMPLATE

NOTE: DIMENSIONS IN [) ARE MILLIMETERS.
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